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1. What annual payment will discharge a debt
of ` 808 dues in 2 years at 2% simple
interest.

2 lky esa 2» izfr o"kZ dh nj ls ` 808 ds Í.k dk
okf"kZd Hkqxrku Kkr djsa\
(a) ` 400

(b) ` 350

(c) ` 200

(d) ` 300

2. What annual payment will discharge a debt
of ` 10750 dues in 4 years at 5% simple
interest.

5» lk/kj.k C;kt dh nj ls] 4 o"kZ esa ` 10]750 dh
jkf'k ns; gS rks okf"kZd fdLr D;k gksxh\
(a) ` 2000

(b) ` 2800

(c) ` 2500

(d) ` 2400

3. What annual installment will discharge a
debt of ` 1740 due in 5 years at 8% simple
interest.

dkSu lh okf"kZd fd'r ` 1740 ds Í.k dks 8» okf"kZd
lk/kj.k C;kt dh nj ls 5 o"kks± esa vnk dj nsxh\
(a) ` 360

(b) ` 340

(c) ` 200

(d) ` 300

4. What half yearly payment will discharge a
debt of ` 4200 in one year at 20% per
annum simple interest?

dkSu&lh Nekgh fd'r ` 4200 ds Í.k dks 1 o"kZ esa
20» izfr o"kZ ds lk/kj.k C;kt ls pqdk nsxh\
(a) ` 3600 (b) ` 2200

(c) ` 2000 (d) ` 2100

5. What quarterly payment will discharge a
debt of ` 2120 in one year at 16% per
annum simple interest?

dkSu&lh frekgh fd'r ` 2120 ds Í.k dks 1 o"kZ esa
16» izfro"kZ ds lk/kj.k C;kt ls pqdk nsxh\
(a) ` 510 (b) ` 450

(c) ` 470 (d) ` 500

6. What five monthly  payment will discharge

a debt of ` 94500 in 
1

1
4

 year at 12% per

annum simple interest?

dkSu&lh 5&ekgh fd'r ` 94]500 ds Í.k dks 
1

1
4

o"kZ esa 12» izfr o"kZ ds lk/kj.k C;kt ls pqdk nsxh\
(a) ` 30,000

(b) ` 31,000

(c) ` 20,000

(d) ` 33,000

7. ` 3400 is payable after 3 years. If it is to

be paid in 3 installments each year. First

installments is 
1

3
 of the second and 

1

4
 of

the third installment. Find each install-

ment if rate of interest is 10% per annum.

` 3400] 3 lky ds ckn nsus gSaA ;fn oks 3 fd'rksa esa
pqdkuk pkgrk gS rkfd igyh fd'r nwljh fd'r dk
1

3
 rFkk rhljh fd'r dk 

1

4
 gSA ;fn C;kt nj 10»

okf"kZd gS rks rhuksa fd'r dh jkf'k Kkr djsaA

(a) ` 400, ` 1200, ` 1600

(b) ` 300, ` 900, ` 1200

(c) ` 100, ` 300, ` 400

(d) ` 240, ` 720, ` 960

8. ` X is payable after 4 years. If it is to be

paid in 4 installments each year. The ratio

of installments are 1 : 2 : 3 : 5. Find the

value of X if First installment is of ` 50 and

rate of interest is 10% per annum.

` X, 4 lky ds ckn nsus gSaA ;fn os pkj fdLrksa esa
pqdkuk pkgrk gS rkfd lHkh fd'rks a dk vuqikr
1 % 2 % 3 % 5 gS] rks X dk eku crk,¡ ;fn igyh fd'r
` 50 dh gS vkSj C;kt dk nj 10» gSA
(a) 600 (b) 1100

(c) 400 (d) 900

SIMPLE INTEREST (INSTALMENT)

lk/kj.k C;kt (fd'r)
(CLASSROOM SHEET)
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9. Amount of ` 25,600 is to be paid in three

years and three annual installments. If

amount of 1st installment is half of the

amount of 2nd and 
1

3
rd of the 3rd. If the

rate of simple interest is 10% p.a.  Find

amount of 1st installment?

` 25]600 dh jkf'k dks rhu okf"kZd fd'rksa esa vnk
djuk gSA ;fn igyh fd'r] nwljh fd'r dh vk/h

rFkk rhljh dh 
1

3
 gS rFkk lk/kj.k C;kt dh nj 10»

okf"kZd gS rc igyh fd'r dh jkf'k Kkr djsaA
(a) ` 8,000

(b) ` 6,000

(c) ` 4,000

(d) ` 10,000

10. A took a loan from B of ` 480 at 6% simple

interest on a condition that he would pay

it in 4 yearly installments. Out of which

first 3 installment would be 
1

4
of the

principal and the rest amount would be

paid in last installment. Find the amount

paid by A in the last installment.

A us ` 480 B ls 6» lk/kj.k C;kt ij ,d 'krZ ij
Í.k fy;k fd og bls 4 okf"kZd fd'rksa esa pqdk,xk

ftlesa ls igyh 3 fd'r ewy/u dh 
1

4
 gksxh vkSj

'ks"k jkf'k dk Hkqxrku vafre fd'r esa fd;k tk,xkA
vafre fd'r esa A }kjk Hkqxrku dh xbZ jkf'k dk irk
yxk,¡A
(a) ` 163.2

(b) ` 165.7

(c) ` 127.2

(d) ` 263.4

11. A sum of ` 10 is lent to be returned in 11

equal monthly installments of ` 1. What is

the rate of simple interest per annum?

` 10 dh jkf'k dks ` 1 dh 11 ekfld fd'rksa esa pqdkus
ds fy, m/kj fn;k x;kA lk/kj.k C;kt dh nj Kkr
djsaA

(a)
1

9 %
11

(b) 10%

(c) 11%

(d)
9

21 %
11

12. Ajay lend ` 19 to Atul on condition that
the amount is payable in 20 months by 20
equal installments of ` 1 every month.
What is the rate of simple interest?

vt;] vrqy dks ` 19 bl 'krZ ij m/kj nsrk gS fd
jkf'k 20 eghus esa 20 cjkcj fd'rksa }kjk ` 1 izfr
eghus dh nj ls nh tk,xh rks C;kt dh okf"kZd nj
Kkr djsaA

(a)
1

11 %
9

(b)
6

6 %
19

(c) 30%

(d) 10%

13. ` 2070 is to be paid in 10 monthly
installment. Find rate of interest if each
installment is of ` 230.

` 2070 m/kj fy, x,A 10 eghus dh fd'r esa pqdk
fn;k x;kA izR;sd fd'r ` 230 dh Fkh] rks C;kt nj
Kkr djsaA

(a)
80

%
3

(b)
83

%
3

(c) 18%

(d) 57%

14. The market price of refrigerator is ` 10000.
If it is available on a cash down payment
of ` 2000 and 9 monthly installment of
` 1000 each . Find the rate of installment.

,d Úht ij vafdr ewY; ` 10]000 gSA ;g ` 2000
uxn o 9 ekg dh ` 1000 dh fd'rksa ij izkIr gksxk
rks okf"kZd C;kt dh nj Kkr djsaA
(a) 30.33%

(b) 30%

(c) 32.33%

(d) 33.33%

15. If the price of an article is ` 9000, If this
article is purchased on the cash down
payment of ` 2200 and rest can be paid in
five equal monthly installment of ` 1400
for next five months. Find the rate of
simple interest annually.

,d oLrq dk ewY; ` 9000 gSA ;fn bl oLrq dks ` 2200
ds uxn Hkqxrku vkSj 'ks"k jkf'k dks vxys ik¡p eghus
ds fy, ` 1400 dh ik¡p leku ekfld fd'r ds :Ik
esa Hkqxrku fd;k tk ldrk gS] rks lk/kj.k C;kt dh
okf"kZd nj Kkr dhft,A
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(a) 10%

(b) 11%

(c) 12%

(d) 13%

16. An article is sold for ` 500 cash or  ` 150
cash down payments followed by 5 equal
monthly installments. If the rate of
interest charged is 18% per annum,
calculate the monthly installment.

,d oLrq dks ` 500 uxn ;k ` 150 uxn Hkqxrku ds
lkFk&lkFk 5 cjkcj fd'rksa esa cspk tkrk gSA ;fn C;kt
18» okf"kZd nj ls fy;k tkrk gS rks ekfld fd'r
fudkysa\
(a) ` 63.07

(b) ` 72.02

(c) ` 75.06

(d) ` 73.06

17. A man borrowed a sum of Rs. 7000 from
bank at simple interest. After 3 years he
paid Rs. 3000 to the bank and the end of
5 years he paid Rs. 5450 and clear all his
dues. Find the rate of interest.

,d O;fDr u s  lk/ kj. k C; kt ij c S ad l s
` 7]000 dh jkf'k m/kj yhA 3 lky ckn mUgksaus cSad
dks ` 3]000 dk Hkqxrku fd;k vkSj 5 lky ds var esa
mUgksaus ` 5450 #i;s dk Hkqxrku fd;k vkSj vius lHkh
cdk;k jkf'k dks lkiQ dj fn;kA C;kt nj Kkr dhft,A
(a) 4%

(b) 6%

(c) 5%

(d) 8%

18. Ankit borrowed ` 15,000 from bank and

returned ` 6500 after 6 years from starting

he returned ` 13,460 and settle his

account. What was the rate of interest?

vafdr ` 15]000 lk/kj.k C;kt ij cSad ls m/kj ysrk
gSA 6 lky ckn ` 6500 pqdk nsrk gSA 'kq:vkr esa 10
lky ckn ` 13]460 nsdj dtZ ls eqDr gks tkrk gSA
C;kt nj djsaA
(a) 4%

(b) 3%

(c) 4.5%

(d) 5%

19. A man borrowed a sum of ` 10,000 from

bank at S.I. After 2 years he paid ` 3,000

and at the end of 5th year he paid ` 2,500

and at the end of 7th years, he paid ` 6,720

and clear all his dues. Find the rate of

simple interest per annum.

,d O;fDr cSad ls ` 10]000 dh ,d èkujkf'k lk/
kj.k C;kt ij m/kj nsrk gSA 2 o"kZ ds ckn og `

3]000 dk Hkqxrku djrk gS vkSj ik¡posa o"kZ ds var esa
og ` 2]500 dk Hkqxrku djrk gS vkSj 7 o"kZ ds var
esa og ` 6]720 dk Hkqxrku djrk gS vkSj viuk lkjk
cdk;k lekIr dj nsrk gSA okf"kZd C;kt nj Kkr dhft,A

(a)
4

4 %
9

(b)
5

4 %
9

(c) 5% (d)
1

3 %
3

1.(a) 2.(c) 3.(d) 4.(c) 5.(d) 6.(a) 7.(a) 8.(a) 9.(c) 10.(a)

11.(d) 12.(b) 13.(a) 14.(d) 15.(c) 16.(d) 17.(c) 18.(a) 19.(a)

Answer Key
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